920 13"7 '0 2,1 Non .7"'02

— N7 RQAP It 2970 92KRT N29PY %292 7 20
He agrees with Rabi Akiva who maintains that 1121 2379 is a fine

OVERVIEW

7°Kn °27 maintains that by P 027y there is the rule of 22wn 7217 (even though we
derive from 1YW >72 that NPYY '2 01Wwn 1207 X'RY), for we derive 1PnIT 279 from
Y7 oW X% that just as by 2"wx¥n he is own 7% the same applies to PRI D073,
We can derive Pnn1r 279 from 2"wX even though 7"wxm is a fine (o), for n"
agrees with v"9 that 71T 27V is (also) a o1p.2 Our NdOIN explores the meaning of
the npomn between 13271 n"3 and thus resolves apparent contradictions from
various N3 to our XIM3.

= ¥ OV NOSINN DY 999 991D W9
The explanation of the answer (why »n"9 maintains 05w 1»1%) is because he
maintains 1227 2°7V is a 01 and therefore he derives that by 127 07y they are

2owWnT P12, from =''weI% (where there too the 2"wm is a2wm 7p1?) -
- ¥9 BV NORINM 1Y 199999 XY 59151 XIN NI 2930 1929

However, the 3129 maintain that the payment of 12217 2°7¥ is monetary (but not a
fine), and therefore they cannot derive 727 279 from 2"'@X that by Py 007

too the rule should be a>wm 17 (for we do not derive 1m7» from 03P [which is considered a

w1n]).” This is the explanation of the X3 the way it appears initially.
= XY 1999 %2) AR D3P 22) NONX DIUNI NPIY 1N NN 22997 ynwun

It is indicated from this explanation (of the X713) that according to »''9, only by
oip is there the rule of abwmy apY» (for we can derive [any] 01p from 2"wxn),

however regarding a monetary payment (not 01p) there is no rule of a2wm 77
(because we cannot derive 17 from 017 [where by 01p he is 2owm 717]).

Mmoo asks:
- “NOIN (Dv1 x,xx 47 xv8n x22) DIIMIDN NN 99V PI93T YD)
And there is a difficulty, for in 2°%¥1577 nX 25977 P95 the Xn>13 teaches -
- M"Y 1927 73 1995 1P 71 *B5uN APV N W N9 %9 BINN

" A fine (or 03p) is when the amount to be paid is fixed; it does not depend on the individual case; everyone pays the
same amount (as it is by 71"wx¥m, where everyone pays 703 Xn).

? Granted that P») 0°79 pay according to the damage they wished to inflict, nevertheless it is deemed a 03p, since in
actuality they caused no damage; they only intended to cause damage.

3 See 12w 7"7"wN.

4 See P 11"7 X,7 'on [TIE footnote # 8].

> He pays the owner since he deprived the owner’s animal from eating which she rightfully deserved on account of
W72 M 0nn K7. The owner now needs to feed his animal. This is considered a monetary loss.
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A renter who muzzled the mouth of a cow and threshed with it, he receives
mpon (for transgressing the W5 of 172 Mw o1orn 89),° and pays the owner (of the

animal) four 1°ap (of feed) for a 7199 and three °2p for a donkey -
-n 1995 ONN DHWNI NPIY DD NINT YINRN 2395 NY ISP

And »2X established that xn>12 according to '~ who maintains 2523 1%
however there in the Xn»"72 it is a case of 117 (not 03p).

mooIn has an additional question (regarding the view of n"9):
= 199 SN OOWUNI NPIY IINMI 229 (ow) 3,79 97 mana) IV 1IN P99 13999NT IV

And furthermore 7127 states in n19Y1 98 229 that »''S maintains a2 7p" -
- 13y 993 “ynwn *ndv neY owm nn

However he does not maintain 25wy n». This indicates that in any event »"
maintains 25wm P17 (whether it is NP9 01 or MpPYnY n). This contradicts what we assumed
that it is only by 031p that »"9 maintains 2w 7°.

nddIN continues to ask:
- PN 397 799 1339 91959 NY IND 181 a9 Hup 19

And similarly there is a difficulty according to the 3239, for the 3129 limit their

argument with »''9 to o7 o7 -
- 99 DV NOSNN G99 581 KY 7999 NI NN 11T D197 115 X207 0IUN NN

Only because the 7127 maintain that o223 297 is X112 so therefore we cannot

derive it from 2'"'wxy -
= ¥9 OV NN DYYN NPV 1999997 ¥HN ©Ipa YaN

However by a case of 017 the 7127 would agree that we derive this 01p from

2"'wxm that he is 25w 7195 this is how MpoIN understands our X713 -
- DYWM NPIYINPNT )9 NP KD 799 103D 923 (vav 41 0wy AP 1IN P993)

And in np1 YR P90 regarding oip, the X1 asks, ‘but we have an established

rule that 221 712 119K’; so why by o1p is he a7wm 71, The concludes the s'x%3 question -
- D37 5323 1959N 1939 21999 RNPYN PNM $397 19395 W1

67,75 (X¥n) 027.

" mooin just surmised that only by 01 does »"9 maintain that 2%wm 7717 (because we derive it from 2"wxm), but not
by 1mn (since 1°9%° X7 D1pn ). How can »ak say that the ¥n>»13, which is discussing 1wn, follows the view of
n"a?!

¥ If one did a capital offense which also requires a monetary payment (he burnt his neighbor’s house on naw), (even)
n"7 agrees that he is exempt from payments on account of his capital crime.

? When 7721 states that % n°x 09w 712 he did not qualify it that it applies only to 01p; indicating that it is true even
by 1.

10 The 277 N3 amends this to read, 797 11272 7wp (instead of 7¥7 13270 AWp)

"' The mawn there on X,u3 states that there is a 01p 211 for being oikn a mn*> "2»n (like 1MNX), while in our n3on
(R,») the mawn states, there is a NP9 2vn for being NINKR Hy1a.

"2 There it is a case of NP 01p where 1" certainly maintains 2>wn1 7pY2. Obviously the "»p is according to the
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The explanation of the question, 'D2wn P17 1WRT 2"»p X', means according to
the 3321 who argue with »''1 that is where we have this ">°p. It is evident from

that X713 that the 3339 argue with 2"9 even regarding 1P that even by 03p the rule is
a>wm 1?12 1R, The question is why not; let us derive from 2"w¥m that by 01p it is oowm 717
even according to the 11277?!

MDOIN answers:
- BYUM APIYT T PIYY DIPY 1AM 122 PITIN KDY 13399 193 PRM 399 192 INTIT Y Y
And one can say; that certainly there is no difference between money and o1p
regarding the rule of abw=y 179, whether according to %'’ (in both cases he
receives Mphn and 01P\11Mn), or whether according to the 3131 (in both cases whether

17 or 01 there is no MpYn) -
- PR B21Y 223 2509 INPWA 279 1Y 13599 INYWA 3791 NN

For we derive the exclusion that n1ywa "2 2wn 1211 R"X), from ynyw= so%, and

INYWT 972 is written by 1omamr 29Ty -
- NI NDIP 19997 1Y 9207 NI %29Y 95N

Therefore, according to »''Y who maintains that 3°%21 297¥ is a 01p —
- 15YM PPITT NINY ¥ OV XONNN 1NY 12995 999

And we can correctly derive 7217 2°7Y from 2''wxn to teach us that Pt o7y
are PRbwR PRW -

- 19919 PN NNIPIND NI NPYYA SNV OPNNT DT 22) ANT INYY »13 15 BN
Therefore (since we already know that 17 227V are PR wm 1PP1?) we must
assume that the ynyws 575, which is written by 721 27y, which excludes

administering nvywa '3, cannot be established by 7121 np®» (for we already

derived Pnn1r 027y from 2"wx that PrYwM PR?) -
- By 198 9993 XIPNTY 0D 1012 SDIPING 39998)

So therefore it is necessary to establish the 11v°» of \nyw" >72 that DwWwn 12777 XX
nrywa 2 (not by mMpom1 11mn, but rather) by nip»1 0o as is mentioned in Y9X P2

s -
- 501919 5550 X92PT PN 5339 GX BYYNY APYT SNT Y93 TINN 539 NN INT )9 ON

1127 in a case of MpPYnI 0Ip.

Bam (Xxn) 0°127. Actually the 09 of 1nywn »73 is written by the rule of mpon (the w11 of 1nn 07y is in 027
v,0> o727 [2wo]). However there (by Nipon) the 77N writes (X,72 XXN) YW DX WOWIT P°780 DX P 780, which the
X3 previously (2,2) explained refers to 1m7 07y, therefore the following P05 of Nywn *73 is referencing 7Y
1P also.

1 See footnote # 8.

135,75 maino,

16 We cannot derive it from NPYwA "2 Dwn 120 KXY YA 73 for since this P09 is written by 1"mn1T 07V (see
footnote # 13) and by 17 0*7v the rule is that a7wm a7 (for we derive it from 1"wxn), therefore the NywA >75
written by 11 0°7Y cannot mean 07w P12 1R, but rather it can only mean D7wm N1 K.
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It follows therefore that '’ certainly maintains in any event that abway >,
even if it is a payment of %% (and not 01p), for from where can you derive to

exclude that abwn 7p1% 108 —
= NYD NN 12191997 DITYT 1N N0 a4 DaN

However, according to the 3129 who maintain that "'y is X11%2% and not a o3p -
= QOYM NPITT ¥ DY NONININ 13299 XY 7oY

Therefore we cannot derive 1"V from 2''wx that by 1"V it should be 2w P -
- 99013 NP 1191 KIPN 1PUAT 7o)

So therefore we expound the 195 of 95972 nyw= 7> -
- DYDY NPV IONRT PP T mphna meyws snv s0Ins

To exclude that one cannot administer two punishments by nyp%» and 1122, so he

is not abwm P> -
= INYYI 2191 DYYM NPIY 1INT DIP 223 N DIPN Y92 1329 19N> NNYN

So now that 1YW >73 excludes o?wn 7712, the 3327 will maintain everywhere,

even by o1p that 25wy P 19K for we derive it from ynpw= 7> -
$0IP 172 19 12 NPYYA 72 92 Y0IWNY YNNT 929V ¥NRYN NNY

For the exclusion of 1nywA >72 (that nyw" '2 own 12711 XR"XY) properly indicates
to exclude any n»yw= 'a (with mpo») whether it is 192 or whether it is 2ap.

SUMMARY

The exclusion of YW 75 is written in a 7w19 which discusses 1PmI1T 07 and
mpon. If Pantt 027y is XoIp (the view of "9, so we derive 1"v from 2"wa that 377
o>wnY) the exclusion of \nywA >73 can only apply to 22wm n» (but not 22wm ap17).
Therefore the rule is always 2>wm 1%, However if 1"V is 177 (the view of the 1327
(and we cannot derive it from 2"wxM) then the exclusion of YW >72 applies to
mpYn 1an that 22wWm 7712 1R in any event even by 01p.

THINKING IT OVER
What changed, in m»01n understanding of the np12nn between 727 ", from
N19OIN question to NOOIN answer?

7 The piwo of IMywa *715 is written by npn (see footnote # 13) therefore it is appropriate to exclude a dual
punishment — 25w 72 — by mpon. Since it is also written in connection with P 079 so we say that regardless
what the 1"y wanted to obligate the accused; whether 177 or 01 we say 22wn 712 1°K. See PRT "7 R,272 NM2IN5 ‘0N,
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